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A LEVEL MATHS ) (1) Find the set of values that satisfy —x? < x — 12 (1) Given that there are no common values of x that
7“’* satisfy both 6x2 + x — 1 < 0 and 2x > k where k
is a constant, find the set of values of k.

(16) Quadratlc Inequalltles
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(2) Find the set of values that satisfy both
6x% < 17x + 3 and 4 > 2x
(2) Find the set of values of x such that% > 2
(2) Find the set of values that satisfy

x>4+8x+12=20

(3) Find the set of values that satisfy both
x?<12and x? > x
. 8
. . o 3) Find the set of val hthat — <1
(3) Find the set of values that satisfy Give your answer as an inequality in exact form. (3) Find the set of values such tha x+1

x?> >4
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